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SECTION-A (i.» SwWlL—|—2¥
Q.1 Questions /=41y A B c D
" . aﬁ;ﬁﬁvw&umf\rﬁ.w\mx\nm (m‘..h. D@xwm‘.\.«n\ [ h..m\gwm....m.\\ L aJ oN!xw et w\ (ﬁ..h‘
. i g . Stationa Stationa Small Magnetic
The presence of magnetic field can be detected by a: , s e nsh«mo rioE e n:Wmm et no.mummm
2. The formula of electric intensity is: - .AL_@W\WF\ ' E=V/q E=k/q E=F/q E=W/V
A AT pinty 1 \Sharﬁ\@mxbh
3. I two resistors of 6kQ) and 4kQ are connected in seris en 2kQ 10 kQ 24 kQ 12 kQ
equivalent resistance is: UK
4. _|Specific resistance of copper is: -0k 08 1.69x10%0m | 1.70x10-Qm 2.75x108Qm | 5.25x10-8Qm
5. (The unit of intensity of sound is: JP...\.»_&.\.%. s vam /0, Wm Wm- Wm-2 Wim
6. _|Refractive index of ice is: st Enk G (S 1.66 1.36 1.33 1.31
w8 S Yot cre Jo L ZiTrug] (O
7. [For a normal person, audible frequency range for sound wave mo_ﬁ kHz 30Hz-30kHz 25Hz-20kHz | 10Hz-10kHz
lies between: . "
Wl hn € rSbis T LIFL N § s v ont, e #0)0S | Cznfil | $itnfifiy
8. |If the mass of the bob of a pendulum is increased by a factor |Be increased: emain the same | B€ decreased |Be decreased by
of 3, the period of pendulum’s motion will: factor2 ¢ : % by a factor 2 factor 4
-e Ut b RO2L Ao ] Sie 60| Sntto e G ip @I | Sunp o S
9. |Whenahea nucleus is split into two lighter nuclei, the Absorb nuclear Release nuclear | Absorb chemical | Release chemical
process would: - energy energy energy energy
16 -V (2 Po) % 4y 30 150 2138 190
' {Half life of polonium (' Po)is: 30 days 150 days 138 days 190 days
it -r...&\ w5"1"JLXIX=AB S| B=1.1A=1 B=0 s/ A=0 B=1 .1 A=0 B=0 .5t A=1
"/IfX=A.B then X is “1” when: A=1landB=1 A=0and B=0 A=0andB=1 A=1andB=0
12. [How many parts does the CBIS consistof ? | 5. 122 cpis 2 3 4 5 _

A
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wavelnngth dem. labeld a crest and trough on tha wave ¥ o Ll 2B M S A b 22022 Sk .

w Defme vibrat on and frequency. d(.)gf'éu’ £}.m;2gr, i
v Define reflecton of wave _&é_’giébaﬂ-f‘?, ol
W Deane elpctic field dfu! 2P J DSE iy
v e eloctne mtens by @ vecior quantity? What will be its direction? vd,; Lf,.;,/é‘jﬂ.;,’_.,fj! ,f ,_{;;f?:_f ;‘341_/ v
v Whalie electrestabe induction? Tests Y c..,;?fi!.zg" Iy
v Prove thal hWh=3.6MJ WWh=3.6MJ:E ot i
vt What is the diMerence between e.m.f and polential difforenco? ¢ ‘.‘d ,‘&’U’-’Ua YA fﬁ;”’ 2l AL S di
3 Wnie down short answers to any FIVE paits. (5x2=10) .é(/’ 2z L.lzlé&c.éf .3
i Whalis SONAR? teir i
Wnat s the difierence between musical sound and noise? te iV bt fi
a1, Onwhat factars does the loudness of sound depend? hg.hn,d’ Tg J abjt’!’u"iiiéﬁiir Lt
w  Defne internet and wnite down ils two advantages. ,E.‘f ;.ifén[.wméf.zi J...,,-: Sl
v. What s the difference between a hard disk and a floppy disk? S J Y ‘):,Cidsi,x..i: A v
vt Wrie down any two uses of aptical fibre. .édg.—.w” Indl. i E»f}'f Vi
vi. Define nuciear transmutation. .é.g ,-7 J;f:ﬂf. i /! £ .vis
voi. Wnte down any two uses of radicisotopes. -ZJU}I»LJU:"Q& vii
(PTO) (3.0
@ Q
4. Write down short answers (o any FIVE parts. (5x2=10) @ & 1l -4 [,.uf&w_é i.a
i What is the difference between a terrestrial telescope and a refractin o%? ted )yui.,/'dfﬂ it ff’uk..u"' O
i Draw a ray diagram of the virtual image formed by a plane mirrar.o%%) < -_é_l-,(lfys i (5 51;}5.:&.1:3.4,./55.{4 1]
. Why does dispersion of light occur? @ T{..Gﬁ(.:..pg g,’_,»;i;sd}:. R11
v  Whatis the difference between a generalor and a mo YC“-J)L’J:}}‘;.-L& bt v
¢ On what principle does a DC motor work? 6{?@ i‘z‘,{}/ ¥ .',Jr'uf PES Y
vi_ How can you compare the logic oparation X=A ét\/sual operation of multiplication? © Eéf ‘.-,f 2 :V;.,;,igk-t’)(:A.Bﬁ.;L{f.‘,? i
¢ Whal is the cause of glow in the cath be? fetf .;:Jhﬂ,’u-‘-._afz_.b}f il
v, Define OR gate and draw ils sy iagram. _;‘_g(i/ gsu” wJJI,;fé:l{..y ;?é.-,;",s' i
SECTION-C/r.»
tote: Attempt any TWO questions. Each question carries NINE marks. wﬂ(*)))édv,q,,&{/‘.:-wé.z.uwn;.;}p" et
) .éybx,(i_/‘b_.;h_’xj 3w, k;.udd/ /-.&’Lééq,&’s:;' JS;:?( T
5. (a) Defing longiludinal waves. Describe an activity to produce longitudinal waves. (4)
() tdriraanddins ik o el I syl 5{50V¢,..'/"|£¢’.—bjgt100\lféak&’i&';*2C.J:l ()
(h) Apontdhamed ¢?CmmﬂexmdfmnnpoimmpdenﬁdWbammmwiw.wmmanw&mmwmmﬂm
13 Ferndnlis S gEISFEL R sl s i
8. {a) Explainthe transmission of light signals through oplical fihres with the help ol a diagram. 3+
(5) ‘:h;(,,.,Jy..ﬁt?’r,t,;»d‘udﬁo».:)u,;.)mﬁ.‘;.dl«s.zs.ﬂa.;’(éso-d;ﬁfs;;, ()
(b) Cobalt-60 is a radioactive elemoni with hall life of .25 yoars What fraction of the ariginal sample will be left after 26 years?(5)
(o1r101) b P LB i M L BB A BT 7
7. (3) Write down In detail, the deflaction of eluctrons by electric and magnelic fieids. Draw a diagram also. (1+1+1+1)

(5) .2’5()”.:-:(2uic_—z,‘gdé:t.‘;.iz,;yﬁ[_123m.:.‘4.8cm;'§3gﬂ6gﬁj-!g}“i’.+4cm3y’m§f”-—{l ()
(b) Anobjacuswmhighandisplacodaladismncao!munfmmawimxlensoffocauengmam.cmwlawmmsmwmdm

image. (5)
// / // 115-224-1A-34000
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Note:~You have four choices for each objective type question as A, B, C and D. The choice which you think is correct, fill that circle in front of
question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

- SECTION-A (i.r Sl ~2~)
[ —7
Q1 Questions /=1y A B c D
. - e JESpSitE |l Dotk pdant an
" | Which is an example of longitudinal wave? Light wave Radio wave Sound wave | Water wi
- Ll 22882 2184 %Uﬁl 5 »

5 ok BAE S Al - ’L £ AL " GG
The most penetrating radiations are: p a Beta particles | Gammarays Light ra

particles

5 eSS | Kt 6 S VP
What does the term E-mail stand for? Emergency mait (Qectronic mail Extra mail External n

o N, » A o d e O
4 -“E-L ly)f(.t/‘f A £ (decay) s ./_.,/ %,[&ngs"’%/gw ¢ oo ¢ \é)\ < btk ;QW""//‘.‘.’ t'm.):‘; L
* | During the process of decay of Alpha Particle, Beta Particle Inér o @ P, by 2 B h- '
and Gamma Ray, the change in mass number will: e A ncrease by Decrease by 4 | Beno char
’ - ~N
e NS S vés e Sndn s oo 2B L S o@i}%\ Fuibr
) LU ;

5 :Ju;dl;éz 275 @ e JM[ Remains the . Jﬁ/l
If the current in a wire which is placed perpendi Increases Decreases — Will be ze
to a magnetic field increases, the force on the :

b, U . %5

5 PN O w%t,gf_//’?' (b 4K - ot
Which metal is used as the filament of ( ric bulb? Aluminium Copper Silver Tungster

(Continued / PTO) \ EIN
J J “)
i Questions /= {i» A B c D
l 5 -uju;un(p/(é;i’d/:’;;‘!(/‘ﬁﬁjgél ?,T!'-’-J'!_; )“/T}_‘é’ '/';"9/_: '/';/'.QI
i " |The particles emitted from a hot cathode surface are: | Positive ions Negative ions Protons Electron
byt Snd25d Libd LS e b fifthlioc L
-(ﬁué'/.ﬁﬁ‘zukuéo(.ﬁ'»u]»cjf-lg
8- | 5 Joules of work is needed to shift 10 C of charge 0.5V 2V SV 10V
from one place to another. The potential difference
betwe_en both the places is: .
Ky ‘f-"a’ _/..JT&-IJU?KJ Ic‘-45°a2gfgf?-jgldl’ﬁuw}£ U’/?J JJU’A 34 o = o o
9. During reflection of light, the angle of incidence is 30 45 60 90
45°. Its corresponding angle of reflection is:
_c‘;t'n@"udl}légﬂ;‘at‘/f&/{ 3A 2 U il 6QQL
10.] What is the voltage across a 6 resistor when 3A of 2V gVv 18V 36V
current passes through it?
S Snet SIS Laut e Gudeh o
11.| The bob of a simple pendulum completes 2 cycles in 0.5Hz 1 Hz 2H; 2.5H;
one second. Its frequency will be:
" A Lo B R i ek | sy, 32 '
| In vacuum, all electromagnetic waves have same: Frequency Wavelength Amplitude Speed

116-224-1A-25000 * % % *
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i. Define mechanical and elactromagnetic waves, _é._p_ j‘j;‘i,_@‘, Y4 ,,U?:(’ A

ii. 1 the length of a simple pendulum is doubled, what will be tha crb . g - 1 , .
' change ig its time period? T‘j‘*w"f otial LL T L /W dUJH "-’3""/' i

What type of waves do not require any material madium fot thelr propagstion? 1’&%’1’*} .:,,;,5(5,4 y;_:'.l...:.! dediimft&di il

iv. Draw elecliic field hines for two negativa polnt chargos. u:f’( ?’M?.f}-‘?ldkm[. z;g&’r;i-‘g 2 0V
v. Draw a diagram of three capacilors which are combined parallel. und el a";’..).{.-gf i,aJK“( LSS &ﬂf v

Lirk ruwz!-fuwisx.,,i 7 i

vi. Stale Coloumb's Law and write down its formula,
TeJIUubndl§ i

vii.  Whatlis the difference between a cell and a baltery?
State Ohmv's law. Write S1 unit of resistance. _c'_’_a..'ig_' SIy fi;_édyd}ﬂ’ﬁﬁ viii
H P A Landle 7 3
te bt b ¥ A I L i di i
tebryhir St e, i
?é—ai/gaé;jfg;;} it

3. Wnte down short answers to any FIVE paris. (5x2=10)
i. What are necessary conditions for the production of sound?
it. On what factors does the loudness of sound depend?

iii. What is meant by noise poliution?

iv. What is the difference between data and information? ?q_J)LfU:uk SBlstes v

v. Whatis the difference between RAM and ROM memories? SOV 1 s L v

vi. Whatis meant by a compact disc (CD)? Tl i .:__.C.:_»,Q’ vi
vii. How is fission chain reaction controlled? ?%kggd,ﬂgfjgdwd&?‘ vii
viil.  What is the difference between stable and unstable nuclei? rc‘,djyutégﬁfé{-pﬁ*,,tﬁrg Vil
(PTO) (Zid.)

4. Write down short answers to any FIVE parts. (5&:?}\{\){\0 .é{/’ ..-.yz,-»‘"’ L.l:ﬂ&‘c.(}f 4
i. Define power of a lens and write down its unit. 0% E .z" ..vgwmez‘-.‘_g ﬁdu&d A

-ér._g;é,,gbés&‘-’ mug..filz, i
e Gbdd” A8, A i

S U S LG v

iii. Why the focal length of convex mirror is taken as negal

ii. Define resolving power and magnifying power, leb@
P

iv. What is the working principle of DC motor?

oo TGS a2 Lo S L e
vi. 1n CRO why and how the filament i <. *‘Wr/ 4( AJEFBSCRO i
vii. Wrile the truth table and sy ND gate. -g‘.hywddmfé‘f d”' 213¥2 L AND il
viii. Define thermionic emission. cé._g ,-TJJ’-{!J 7 A il
SECTION-C /r.» ,
Note: Atternpt any TWO questions. Each question carries NINE marks. A /(Q)JLdirﬁ.éd .;WL.:ﬂrn.f..éf:..‘J

+1+2) U ES L PGB A NI S o LS E o bsesaSl S 5411 2 (o.M DS LISI 0.5
5 (a)Whatis meant by e.m.f ? Explain with the help of a diagram that how we can measure potential difference in a circuit?  (1+1+2)
6 .Sk .f-{i;_f-vf,q.u.m#e,y 0.06C sT bWt a S S12e s 2l Vot L)
(b) A capacilor holds 0.06 Coulombs of charge when fully charged by a 9 Volt battery. Calculate capacitance of the capacitor. (5)
(1+141+1) .ﬁu‘ bl Kdecay) (st by it uzﬁ.gl_,f.rfulz_,fg&f"nft};-:‘ﬁ(m).ﬁ
6.(a)What do you know about nuclaar transmutation? Write down equations of Alpha, Beta and Gamma decay. (#1414
(6) SHrdacd b &L /b JN5km <l £35cm mzkHz._,g;J;i&.’guM* £38 s L1(L)
(b) A sound wave has a frequency of 2kHz and wavelength of 35cm. How long will it take to travel 1.5 km? (5)
7.(a)What Is NAND gate? Wrile its symbaol and truth table, (1#142) _2 ‘jﬁ“ 23} ot .:.a'rJu'f_zéq ,-TJ_»,I 2 (T
(5) ?.g;_yc'(;ui{ i) ,q_b'b,éiJ;:AdaL«tb’uf oalzéﬁ.?ﬁcm;‘gﬂﬂdﬂnﬁi’_ﬁ ()
(b) A convex lens of focal length 6 cm is to be used to form a virual image three ﬁZithe size of the object. Where should the lens be placed? (5)

/7/ / 11R.224.14-25000
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Note: -You have four choices for each objective type question as A, B, C and D. The choice which you think is correct, fill that circle in front of that
question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

SECTION-A (i~

Q1 Questions /=iy A B c D
FIBIE | T pnlisd | OF pfepnkl | 3780wl | Pl
1 s/ st ot ¥
Electric field lines: Always cross | Never cross each Cross each Cross each
each other other other in a region | otherin aregion |
of strong field of weak field
2, T erl Aot [V vf =M fi=v VA= f pe
The relation between'v, f and A of awaveis: f
BTSSR KT AL
3. pUAT SJUEGT | ot 308 1o 30KE | 25T fo 25Kl | 2000 to Z0KE:

For a normal person, audible frequency range for
sound wave lies between:

7y 5 = o) ;
4 &l il sl £ ﬂQ\éB &y, dd

The loudness of sound is most closely related to its: Frequency A od Wavelength Amplitude

NFIE LSy, fUin ;g,J;r.‘-f}»tw,ﬁuJTW:,u:ut Gt & é\% v\ Lk, & S kg

5. St @
Which of the given devices can be used to produce &ng Aripple tank A helical spring A tuning fork
0

both transverse and longitudinal waves? (Slinky)
O

T A AT by A6 K L4

Focal length Speed of light Image distance | Objectdistance

6. ,4.;(;;!?;?-{% ’
The Index of refraction depends upon: N”

N :
S U
. e : " | 5x10° years | 6x10° years 7x10% years | 8x10° years
Half-life of Uranium “; U is:

 JI ) . ;
8. ~FOnERY v ¥ i/;;t elasticy ok i
Floppy is made of: Metal Glass ratodai None of these
9. |m 'UZ%:‘/W;)' “:";mz"fui" ”;i‘f"f‘ﬁf‘“' » S S UinBuA | HAdieuty
ERMDENES Wisoalice iy (I asise v Analogue Digital BothAand B None of these
are called:
gﬁ'f‘ﬁ)“//b/(jl ;4.(3%;);!:&-!124_&(4%4—16(?» Jﬁ—bﬂqb éli’-‘ﬁ)/,/)f -~ ,1)‘&9?‘1/){ 614'."/'/)4/}1’(}4’
AT IW S a1 P ¥l 48.8° fres
10. ; 5 2
5 cokmieds | e Totally reflected | Partially reflected Totally
The critical angle for the beam of light passing from water and partially transmitted
into airis 48.8° . This means that all light rays with an transmitted

angle of incidence greater than this angle will be:

f’;;dut;q_SQu’"’;JJrfd;;J,é,(nicﬂz;»

w8 v s
it The combined resistance of two identical resistors, 2Q 4Q 8Q 12Q
connected in series is 8. Their combined
resistance in a parallel arrangement will be:

12. ' ,4.0““&3’(9“/5(()5;:.’ y27 /Ju)’,; Fh Ui B siA
The practical application of mutual induction is: Resistor Transformer Inductor BothAand B
4

d/‘ /.’Z._/ 115-223-1A-41000 * % % %



RoltNo. | | [ [ [ 1] (g/z,},g.g‘;\’z

Physics SSC (10*) 1°t Annual 2023 A8 i
Time  : 1:45 Hours Group : | Paper () 24 bg: ,_;,,/ , 1us ks
Marks : 48 Subjective B Sl)) - [/~23 48: 4
Note:~ Section B is compulsory. Attempt any two (2) questions from Section C. w24 M2 LUy e (- Py 4 F G IS
SECTION-B /».»
2. Write short answers to any five parts. (5x2=10) . _ég bz F L’Iilégg_(}f P
i.  Write the symbol and truth table for AND gate. ,4’? d’-" hj‘ul.vmf.b!‘f;! )

ii.  Name two factors which enhance thermionic emission. ‘.‘4;.Gn.:LAf:/'lJA_’}Lwdufu_ﬂ'd"l/»c.uf i
iii. Name four uses of oscilloscope. ‘ -é{ . <A !/!;L?«f’k:l il
iv. Whatis a telescope? ' fe s 7:"& Jiv
v. State Laws of reflection, show with diagram. ‘ -éuu,:.ﬂf Lliuléu(_wf lféu"’gu Y
vi. Write two features of Simple Harmonic Motion. _é4 Folor® »&-f o £ m{df Vi

vii.  State Hook's Law. Write its formula. & ur,srmu;éagu} F¥ef  vii
viii. How does damping progressively reduce the amplitude of oscillation? 7 ?4,&/,)'46‘1;’_{5:‘5&15. c?"u’:l«j;‘f.;‘ viii
3. Write short answers to any five parts. (5x2=10) -éé{ Pz L,lzléyc,(}f £

i.  Whatis the difference between pitch and quality of sound? S G LTSI NG
ii. Whatis meant by musical so[xnd? S‘q.—:lfyfc_}:ibgéir: i
iii. State Coulomb's Law. Write its mathematical formula. v (}Pb’u’mléf_!...g A80IcL AT i
iv.  Draw the circuit diagram of three capacitors which are connected in series. -é_ﬁrlf s /J J ‘/.‘-f o éé.—b?(__%—/z 2 v
v. Whatis the difference between variable and fixed capacitors? C% b0l ; /"..'{ )juldf-lgﬁ{; RY%
vi. Whatis the difference between RAM and ROM? @Q Y I UA(ROM) 7o 9 (RAM) £, i

vii. What is the difference between data and information? ?4_45 )Vu’-‘hf"" bl vii
viii.  Calculate the frequency of a sound wave of speed 340ms ™! 79,9 340ms ™! &rdﬁil«.ﬁé Pk 8kl iii
, f /07

R
and wavelength 0.5m . : (@ w

4. Write short answers to any five parts. ( _ég ez FL g k_éf 4
2122 88 18 Wy 07 1 I s G 1 SOW bt JLALIS
i. Calculate one month cost of using 50W energy saver f@)urs daily in your sfudy room. Assume that the price of a unit is Rs.12.
ii. Draw a circuit diagram of Ohm'’s Law. OV i_gi—lz(lf S /‘SUJG‘L(M i
iii.  Which metal is used as the filament in arx&e\ ulb? Write with reason also. ,e?;b&ﬁ,c:r&ndu"td"-’wfu:,,&.f;% i
particle or a gamma ray photon? ‘?q.dm;Liugvﬁ./'&(fu’ PS03 P-4 LJQ AW v
_é...y YN Hhowe v

iv.  Which has more penetrating power, a

v. Define mutual induction.

vi. State Fleming's left hand rule. _éuguiwiwfw.,@ Vi
vii. Define radio isotopes. -4‘54 A8 14 il
viii. What are background radiations? SRV RS LI L i

SECTION - C (Each question carries nine 09 Marks) (U /L Jir z) froo

5. (a) Describe the type of mechanical waves in detall. , @ g’éukibé::l&:ﬂ%d;g;ﬂ (W) .5
(5) ASVEISUS ne ol oS 4 36 TP 5D sSSP (L)
(b) The power of a convex lens is 5 D. At what distance the object should be placed from the lens so that its real and
2 times larger'image is formed. 7
6. (a) Whatis meant by electrostatic induction? Explain it with an activity. (1+3) _zé.w(i:éwc,d/ /;.{i ‘.‘4—&:7_13’.,}{ H s (W) e
(5) —ér}"' Lans” €805 ?:dd,-q—&ful’( 2128Unter 1 B )
(b) A doctor counts 72 heartbeats in 1 minute. Calculate the frequency and period of the heartbeats.
7. (a) Whatis a fuse? Explain how a fuse’ can be used ) ‘ééyu:?q_t—_bgfdvplgfhfz—(j944_.:«!)5'[_(55 v.;,y;,é () _7
to avoid electricity hazards.
(5) _»250KV z:‘" ,,.»,:u;/:_érk'&/ uu4utcfu‘.}‘/' r}_q_ét,dyw’uj:’) 124 zq,mw;g(ﬁ %1 500 MW J" »g..ﬁ (W)

(b) A power station generates 500 MW of electric power, which is fed to a transmission line. What current would flow in

' 115-223-1A-41000
o Al

the transmission line, if the input voltage is 250 KV?
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Marks : 12 PaperCode |7 |4 |7] 4| SLOL-2-2% 12: 7

“Zs A e AN Llzerna u,/’bi’a_.)&lrﬁdlr ,;4Qk@x_wé. 49D 51 C,B,A =7 .:F /gédlr S s
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Note: -You have four choices for each objective type question as A, B, C and D. The choice which you think Is correct, fill that circle in front of that
question number In your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

SECTION-A (ii»

Q1 Questions /= ui» A B -~ C - D
i Sl S R | Ay FTE 2hisy | e SRl
An electric current in conductors is due to the flow of: |  Positive ions Negative ions | Positive charges | Free electrons
?4_()9';/_Jib’sf‘:'ér.{,z?uy»t.,zl?u_l;ml.c}f-i.ulatﬁh’ " )
2. | Which is the most suitable means of reliable | * szgb ® dadta BSTEY 1% Ly
continuous communication between an orbiting Micro waves Radlo waves Sound waves Any light wave

satellite and earth?

3 . ,4.-}“'7(5“)’(31’&&”‘?& 2 ..3 4

The number of Isotopes of hydrogen is:

S
PR AG | gblord S o) ;b@;ﬂ s A1 | BALSI5.58
&

4. | \m gLnk s
Step-up transformer: lncreasew@% \ creases the | Has more tumns in | Has less turns in
inputc “inputvoltage | the primary coll |the secondary coil
_ 497 ;
1 -ulc.?f;u’-“"-.gipﬁ.@?:;%(wuﬁ(zf: Q%‘J Lf‘lg} . 5!_’&1 1‘5!._{)
5 |ina vacuum, all electromagnetic waves have the @ eed Frequency - Amplitude Wavelength
same:

<)

6. | Ui /4 1.33 1.52 2.21 2.42
The index of refraction of a diamog&\ié"\ : ‘
(N
W(f dB FUs Al ! 1 ! I
T. A =43k | 10log—dB log—dB 10log~2dB log =2 dB
Sound level in dB can be stated as: . &, & I I
i . ¥ ’,‘f 5., ] L] 5
8. _4.4,}(2‘(545‘}: 2y a3l J{;{j(fu i34k, J_J.’Jédg
An example of longitudinal waves is: Sound waves Light waves Radio waves Water waves
?4.&’@@046(3‘[(4@/&}!;}4}’ Jf: »l L;J! J;;uul(,?l df; o} 6'.4_/ » Jﬁuul(fg
9. Which type of an image is formed by a convex lens Inverted and Inverted and Uprightand Upright and
on a screen? real virtual real virtual
Sodr8\EINL LS ne L LT L10C L |
ISP nlchbosind e b2hS
A v ., 05v 2V 5v 10V
_10 Five joules of work is needed to shift 10 C of charge .
from one place to another. The potential difference )
between the place is:
_JLM/’UJ?C'/JUL{Jh}{rf}Zﬁ/&&J VTL:" .4 "‘T;'-!i ,‘;; : . /»jJ,
11. | The particies emitted from a hot cathode surface " fi ; ¥ #E *4 . e
are called: ositive ions Negative ions Protons Electrons

12. b Bia it E bl | oo, \/E T=2x JE T2z |1 | ro2s \/'_é
Formula for the time period of simple pendulum is: g k g !

- é/ 116-223-1A-35000 & *
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Marks : 48 Subjective (U1 Swi—2~23 48: A

Note:- Section B is compu_isoty. Attempt any two (2) questions from Section C.

oz Lyudrne s :.-gﬁf'rﬂ-q.d)ﬂ(b.‘? oy

SECTION-B /».»

2, Write short answers to any five parts. (5x2=10)

Vl./Define sitple harmonic motion.
If the length of the simple penduium is doubled, what will be
the change in its time period?

i What is meant by farsightedness?
iv. Determine the power of lens if its focal length is 10m.
W State Snell's Law and write its formula.
viw"Draw the symbol of NOT gate and write its truth table.
w/ NAND gate is the reciprocal of AND gate. Explain.
viil. What is meant by logic variables?
3. Write short answers to any five parts.
A" How the depth of sea can be measured by ultrasonic?
{ What are stéthoscope and tuning fork?
#” Define unit of intensity level of a sound.
% State Coulomb’s Law.
Draw the electric field lines of positive and negative charges.

(5x2=10)

V.
vi. Whatis the use of coaxial cable wires?
¥i[_ Whatis electronic mail? Write its one advantage.
What is the function of INTELSAT and SATCOM?
Wirite short answers to any five parts.
i Define isotopes and give an example.

Iﬁtate Ohm’s Law. Write its equation.
If 0.5C charge passes through a wire in 10s, then
the value of current flowing through wire?

iv/ What are tracers? Write one use of them.
What is a transformer?

W/~ What is a nuclear fission reacti

vii¥” Write two reasons of back ground radiations?

viii.
4.

.-
jii.

;@@

Can current flow in an electric circuit without potential
difference? Explain.

vill.

(5x2= @%&\)k\

g P L anble b5
-éqﬁdﬁ'ff&—{flk}( A
LTl bt badt LI o /U nsi8 bty ol /T

=&

il

.iv

(X Ty ]

e sSrdmiom FNE S
iy oIt S
b BN bl B
Eoolsy g Mad bias e
teslpl 4.?9"54,54:..@

-ég Pl L.!zté},céf
st LJMJJY'/‘!G';JM/ i
Ut VJ }foulff’ ;"M
IS L IS ST
I AT

LIPS /"ujhbr‘g‘ =ty .
e JU* lﬂuudf s
RN A
¢ KL7¥ SATCOM .5/ INTELSAT
1 f g Ll bf

_é ,d‘r‘u{l J)Iéd/“ (54./ I

-2 antbun. iy
$4-Lrr S Ul g uS U 108 Bl 0.5C Ut b

R
Vi
Wil
viii

)
Qﬁ

i
vii

Wvili

ZIFI L Lalss 2

S bals 1)

te-batr s A

_4"10 -.al,ﬁmtj AIsbirs s

Eerbosg I AL BIR g0 S o Sl

i
Wil

viii

SECTION - C (Each question carries nine 09 Marks) (U #JL iy 1) Fr.o

5. (aY" Whatis a ripple tank? Explain its construction and working with' the help @ ,.{4.,-:/11,..;u,érm.,@duw;ry.éd, ) .85

“of a diagram.
(5)

SIS sl a§ e S S 14 SN T 3 6D S ¥

()

(b) The power of a convex lens is 5D. At what distance the object should be placed from the lens so that its real and

2 times larger image is formed.

(1+3)
6. (d
(1+3+1)

-ééc»’UJJJ«C—@".,MJG/}/?Q;:!/VQ@?QAI dbb

What is meant by reflection of sound? Describe the phenomenon of echo with the help of an activity.

,érl’f.;ffjw} ,-s?Jn(_,fw),,/;’uw&w_az{iu,z:l;[_mso ¢« g, =54C il g, =10uC Z.ptFs

) .6

(&

(b) Two pointcharges g, =10uC and g, = 5uC are placed at a distance of 150cm. What will be the Coulomb’s

force between them? Find the direction of the force also.

7. (a) Define Half Life and explain it with an example graphically. (1+2+1) éyu,g_‘g,)o"‘ W/ :L!.‘Jwé’ 'J"i\-d A (5..9’!1.4
SI5G.4£ 81T 2000467 Ss A SIS fuSUi i gt/ Lip 5 .t 12V £240V 4 isd0ushod i

()
()

-7

(5) _éé(}” :1»7_601143 U

(b) A transformer, is needed to convert a mains 240V supply into a 12V supply. iIf there are 2000 turns on the primary

coil, then find the number of turns on the secondary coil. / Z//
Z
/i

116-223-1A-35000
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oy S SLIAI L e na L s L)y ﬁ{QVL?I.wiZ,JD #1C,B.A WXJ&LJV e =ad
£ :I‘Jrab”....ab‘!u/ §194 S e J i/ 4/ :.bﬂ.-,d'.f 41( UsHsmble Ll

Note: -You have four choices for each objective type question as A, B, C and D. The choice which you think is correct, fill that circie in front of that
question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

(SECTION-A Jie)

=
Q1 Questions /=i A B C D
1. Gbniattol L0V | 4 g 1.89s 1.79s 1.69s
Time period of simple pendulum of 1m length is:
b asbap 4 25°C - o 2] 5
2 A b Ss 6020ms™! | 6030ms™! | 6040ms™! | 6050ms™!
Speed of sound in Nickel at 25°C is: »
WS PLLESINE S R AL 4F sl 2F5F | sl Fsi0 <4z 2F
31 get virtual image from the convex lens the object OnF Between F and 2F | Between O and F Beyond 2F
is kept: @ ,)
Siafolg 6UF A120F A H St % . (©
o N\ ©
,q_dz&{f)VdJl-Qgﬂﬁéd wl12V cdp o &\
4. Wl 6uF K T2pF 16F 18pF
Two capacitors of capacitance 12j.F and 6j.F are @
connected in parallel with a 127 battery. ﬁ%
The equivalent capacitance is: ,;\\(9/
M1l L psipiire 3N afipi S { g” ws f s ik
5.
ln. paviliel ombination u st eaci& : Voltage Current Resistance BothAand B
wili have same: ¢
N ; s P He
. -4—du" o T jb%}) 2354 32 U?-uf [—u’ L eﬂu}’ LLE/I @J;f’ LG)& gﬁ’-u)‘f Lfv y
. , y . Conservation of | Conservationof | Conservation of | Conservation of
Lens's law is a manifestation of the law of: ks enengy change I
7. iorg Ol efeslbed bl beihy | 4_0,B=0 | A=1B=1 | A4=0B=1 | A=1B=0
The output of a two-input NOR gate is 1 when:
. e 8o IS s Lt Lid LS Ll
if CD is made of metal then it is called: Hard disc Floppy disc Compound disc Metallic disc

4Bt inl BLEFS L : .
9. | During the buming of 1 ton of coal, amount of | 3.6x10'%7° | 4.6x10'% 5.6x10'%7 6.6x10'%7

energy released:
10. o JPLS _PJ'JX/‘ .
Symbol of fixed resistor is: — = -’l‘- ¢
e In step up transformer: :U:/M‘}*"r! VS >N s VP - I/J . Vs > Vp V‘. >N )
= Radium-226 has a half nfeof'*ﬂam%‘w Ju1820years | JL1920years | JL 1620years | (JL 1720years

113-222-A-45000 *
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Physics S.S.C (10*)-A-2022 J9
Time : 1:45 Hours Group:1 Paper (ID 24 Ut '-;"; &rus:
Marks : 48 Subjective (i SU’L .c /=2 48 : A
Note:- Section B is compulsory. Attempt any two (2) questions from Section C. eyz L uhrveSfetbr o g $ipn o nd
; (SECTION-B /5.9)
2.  Write short answers to any five parts. (5x2=10) ,éu’ iz Ldzléﬁcéf 22
i. State Ohm's Law and give its equation. _é.:.«b(/éuwlédw}ﬁ'b’ﬁﬂ i
ii. How many watt-hours are there in 1000 Joules? st a2 SJ71000 i
iii. Whatis transformer, on what principle it works? ?c;—t-f rudftu’ s AR il
iv. State Faraday's Law of electromagnetic induction. ‘ _éc).(;fu] t Lo p }qlLGﬂAf R
v. Whatis the difference between atomic number and atomic mass? te- 0V ladflui /dtl v
vi. Write the “ o —decay” process by equation for 2 Ra (Radium). .é/]“'é—»."db‘/fdf LLs e 2 Ra (L) i
vii. Define Kilowatt Hour also write formula to find energy in kilowatt hour. Eis Z g0y 0N ey AE ey i
viii. Define Fission Reaction and write its equation. & .-.«blx&fwmé-z ;JL?'{UJUy iii
3. Wiite short answers to any five parts. (5x2=10) .égf a&lz} Ldilé&c&&f .3
i. How does the distance of vibrating body affect the loudness of sound? Y;..b'/ )(?4.( Wt mdhyys;_ﬁ;.nL/ AT
—__ii.__Whatis the relationship.between pitch and_frequency.of sound? ?A,-.Ogﬁiultfimgl,bﬂgéibﬁ—-ii_
iii. Give an example of each charging by friction of plastic and glass rods. 2% ,db-..[h.ﬁ&ﬁztgé’_/séf S8t Ly i
iv. Whatis meant by an electroscope? Is it easy or difficult to use? wm;_‘}” J* U1t -l .,f’: }‘.’._l Jdv
v. Whatis a flash drive? | @ tebalrdd? v
vi. Whatare main services used on the internet? Write their properties. ,ziﬂ F oo P BUNRGS F s p N 1482 21 i
vii. Give a relationship between speed, frequency and wavelength of sound. ! JE _éla bl i-a..' 9 »!u} £ )‘gé T i
Why the speed of sound is greater in liquids than glass? 4 @ <& s, u(}ﬁ»%&{ il Uil
viii. What is Capacitor? Define its Capacitance. » % < ,éqﬂ AL Ju’!‘.'q,.({ = i
4.  Write short answers to any five parts. 1 5 _é./_ Az L,lxlé&aéf A
i. Differentiate between time period and frequency. é‘y} :éuiju’" ;f/;u@/_z,f o
ii. Derive a relationship between velocity, frequency anth of wave. ,?_éfv"oﬂ d_LoJ,L}‘@guﬂu" :é/-é’ iy i
iii. Define Damped Oscillations. O\ Ey I Ayls i
iv. State Snell's Law and write its formula a _250 01 i ¥ wéc}wm&’ Liv
v. Differentiate between convex and /e'lens. éuga)uymﬁ ,Jza/ A N

Eep 17 1525 M2 S N B e 30° At Pt e Sn o L8 S cine 8 i
vi. Aray of light enters from air into glass. The angle of incidence is 30°. If refractive index of glass is 1.52 then find the angle

of refraction’r'.
vii. Which logic gate is called inverter? Draw its symbolic diagram. ,_é—'kzﬂf W&ol ihiiss LS i
viii.  Differentiate between analogue electronics and digital electronics. ,zfdyd }uf-ué 1y P J‘ ) }:’l..ﬁb;! viii
SECTION — C (Each question carries nine 09 Marks) (2 /Il ) Froe
5. (a) Define Electromotive Force. Explain with schematic diagram ~ (1+3) S BSreS o S8idr ) () 5
for measuring potential difference in a circuit. Eeo Lac_mdrlf Bl LS

5) b LLEfnfk %nw&ad14~cm_4_db57sodua{dm ~g ()

(b) Carbon~14 has a half-life of 5730 years. How long wili it take for the quantity of carbon-14 in a sample to drop to
one-eighth of the initial quantity?

6. (a) Indicate two dangers in use of .C.T in society. @2+2) ij-z_ul_écﬁifﬂ'd’d Fud 1.CT LS Ly (WD 6
Wirite some steps to avoid these dangers. 1 F sl

il e Z NI £ j ol e S EJ 8123507 1 Bom Foys Nl 330ms™ S hsuting g 2L 6l (L)
® !‘q_ébuf-».-(j
(b) Ata particular temperature, the speed of sound in airis 330ms™. if the wavelength of a note is 5¢m, calculate the
frequency of the sound wave. Is this frequency in the audible range of the human ear?
7. (@) Explain with an activity “waves as carmier of energy”. (2+2) ,éébadf PprIET P cf? L6 e 2 LFBHi4 () 7
©® Wl et e B8, 0 s 5.66cm £L GG 104 INL 34 dem cipt i (D

(b) Find the focal length of a mirror that forms an image 5.66cm behind the mirror of an object placed at 34.4cm
infront of the mirror. ls the mirror concave or convex?
113-222-A-45000
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Note: -You have four choices for each objective type question as A, B, C and D. The choice which you think is correct, fill that circle in front of that
question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will resuit no mark.

(SECTION-A (ji.»)

Q1 Questions /=iy A B c D
L, B gt L1aem 2L L., ¥ 2]
?4.9‘;@&1}'5’; Ve ,4.5"45.&:m 4’ o o o
L An object is 14cm in front of a convex mirror. The =St Rl 3 s 20cm
image is 5.8cm behind the mimror. What is the focal
length of the mirror?
2 -4, CD Jﬁﬁ{ de?! Jﬁ&f U:i U‘ (3{ e
" | CD stands for: ComputerDisc | ChemicalDisc .| CompactDisc | Noneofthese
1))
% itsis J 722y TR G S
" | Radio waves are: Stationvary El gnetic Particles Mechanical
S )
s KD <
4. P ST e g 1.2@ 1.52 2.21 2.42
The index of refracti_on of diamond is: Q 9
. o Yo ; 5
-U.’.Z,'.-f a.g.dm (5'4(‘1 }.‘.‘U{ c{_f L;vf Zi) 5}’! @@ b dff W] S
5. | The screen of cathode ray tube consists of a mgg a@ Zinc Iron Phosphor Glass
called: P
o~
. .\g‘@éﬁéﬂ L 9 Ll U Ju
Michael Faraday belonged to: {}/\ British USA KSA Russia
7. e L ) B X=A+B X=1 X=4B
The equation of NOT operation is:
TBnme S enZ D 1 S puryy
8. :»Lid.:f s 5‘4—2{.}:{ J)éf (5&(_:1!..:#} Jébﬂftf» (5&-’,}25 s
If we double both the current and the voltagein a Remains Become half | Become double Become
circuit while keeping its resistance constant, the power] unchanged quadruples
e UnrE 2l IS | £nl SSr |nanl S7| ahesgdl  |2hLile sl
9, L 4 JW“ b4 J&Li L
The Coulomb’s Law is valid for the charges which are: Movingand | Movingand non- | Stationaryand | Stationary and
point charges point charges point charges | large size charges
The number of neutrons in Hydrogen isotope }H is:
11 AT IV RN 508 250 & l} is pﬁ;’: M&l
" | The loudness of a sound is most closely related to its: Frequency Period Wavelength Amplitude
Y, o sl s &858 150 — - -
12. | e relation between velocity, frequency and | V=2 Jh= =7 "}./f
wavelength of a wave is:

114-222-A-38000 K %k %k %k
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Time : 145 Hours Group : I Paper (I 24 Lo ?‘Vr & 1:45 : ..‘5’:0
Marks : 48 Subjective OB  Sews~G 2,33 8: A
Note:- Section B is compulsory. Attempt any two (2) questions from Section C. .a!.:.yz&uiimc.éf c&f'rﬂ-q-d)l!(”.ﬂ wd
(SECTION-B /».»)
2. Write short answers to any five parts. (5x2=10) 7 Lkl d! 2
i. Iftworesistors R} =6Qand R, =12 are connected Gl red )17 Ry =12Q s R =6Q sl i
in series. What will be the equivalent resistance? ?‘S:r_(g’f b
ii. Can a transformer operate on direct current (D.C)? Justify. Ennsg WS W4 S 2 p o3 i
iii. Write down any one method to determine the north pole of current ,424 Z}u{’a{g 2.0 et FJys kit vibe2r S il
carrying solenoid.

iv. Prove electric power P =I°R P=I°R s S ;‘Jlécxb v
v. Write the names of two devices for safe use of electricity. 2 R | CJ nd LI ld%L(ﬁ v
vi. Write two Radioactive elements other than Uranium. : -é{/’ g uéfu;, » .,B'L(‘g'd Vi
vii. lIs it possible for an element to have different types of atoms? Justify. iz ?uléxt 7?.11_(3 _ﬁ LJ)‘}-ILSJI!{ il
viii. Define Controlled Chain Reaction. ,éq ¥l Gcffldzd:’-ﬁ; / viii
3.  Wirite short answers to any five parts. (5x2=10) ,égi ez L.fl:!lék.&f 3
i. What do you know about E-Commerce? State. _éungz_w .?,TC}V LU b6
ii. Whatis meant by Super Computer? Sl r Ve s &, i
ili. Write down two factors which affect the ability of capacitor. _é J%-’.»LbLﬂJul?u,:lp'Pldk‘-'/ i
iv. Whatis the unit of capacitance? Define it. Q O é..a /-f éu’ AN ,ib"ff - v
v. The capacitance of a parallel plates capacitor is I00pLF . Find the (:‘” A OpF u’f 0":’) (5 = .b;kd’l;,ug v

vi. What is loudness of sound? Write two factors affecting it. 4 1dbod st AT 4SS 4ol p Y < BLTUEs5) i

value of charge when potential difference between plates is 50 V . ; ;Bﬁ 250V )ﬁfx{..:’l }f&f‘&' S
< 25

vi. What s sound? How s it produced? p e Qg s c iyl i
viii. Calculate the frequency of sound waves of speed 340ms™! 25 0.5m i@pm 340ms ™! .g.rdu’ l.{zé(}" U" £ )6:;»551, Vil
and wavelength 0.5m . 0
4.  Write short answers to any five parts. @5x2=10) : .é{/’ bz Lﬂzlékaéf A
i. Whatis meant by crest and trough in transw vés? Sl ol eIl S S
ii. A simple pendulum completes one vibra g=10ms 2 .ﬁé{:‘” &J(gu’lq.!r/ d;' o ,.-’ubgwbgzﬁ,gd( L
second. Find its length when g=1
iii. Whatis meant by restoring for sl e A, i

iv. Define Magnification and write its formula. .é ﬂr;Gb’dlpléJ, }"6&4 tj!-/ v
v. Radius of curvature of a concave mirror is 10cm. Find its focal length. ,é(}” i@gﬁ&ﬂ-*wcm ,6-:/ afgﬂ&;b&/t_e( uﬁ v

vi. What is meant by Accommodation? Sql b e hirtl i
vii. Define AND Operation and write its formula. _é Unlib’(fh:izé..ﬂ_ /"' d(ﬁz,TAND Wvii
viii. Write down uses of logic gates. .ég/’.—,utr”fLJ’f LU i
SECTION - C (Each question carries nine 09 Marks) (U #IL iy ) fv.io
5. (a) Define Electric Current. How battery is used as 41}’[—6&31.‘.’2// [ )uj ¢ /-:,,é..z ¥l (5:2/( S }‘.:'l (D 5
source of current. Explain it with diagram. (1+2+1) -écw!i:arl/’ Lﬁi'q.&(_-éd(tz’t

72000, S RAESIHS AL S gt/ Lzt Bies ot 12V £240V pilibusb i ()
(e24)  _E eI S EASISHEENT

(b) Atransformer is needed to convert a mains 240V supply into a 12V A.C supply. If there are 2000 tums on the
primary coil, then find the number of turns on the secondary coil.

6. (a) Define Electrostatic Induction. Prove with an activity ek St B G It () 8
attraction is not sure test. (1+3) ,q..-uaé (o

-¢-1500ms™ L35 WERLL 1 g b/ s Eflumliass ulq,&g-.f..;é;ﬂ b S8 asb Az AL ()
®  Eerdglr
(b) A marine survey ship sends a sound wave straight to seabed. it receives an echo 1.5 s later. The sound speed in
sea water is 1500ms™" . Find the depth of the sea at this position.
7. (a) Define Wave Motion. Explain with an example (1+3) .éub;&.d&é ”Jg:d_ll,ditdﬁl"équJ ris (WD) 7
“Waves as carriers of energy’.
® b bpaSE & 82U B (@ In 16em FSifip Sl thasbLA0.50m :.l,f((?g’,t 30cm i ()
(b) An object 30cm tall is located 10.5cm from a concave mirror with focal length 16cm. (a) where is the image located?

(b) how high is it?
114-222-A-38000



v RollNo.[ [ [ | | | |(/2tiud

Physics $.S.C (Part-1I)-A-2021 ‘/)
Paper : II Group:1I Objective (f:/ IWV:/ O: 24
Time : 15 Minutes av) o 15 I
Marks :-12 PaperCode |7 |4 |7|7 | SWL"9)-2.) 12: 4

LAl L/JL/»/’D ..Wén,—lﬁw»egﬁ uu'bé-é,.: eLLJy /:445’(}45!-;8& &.sD »C,B.A &L‘ﬁ.‘i&&dlr s
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Note: ~You have four choices fof each objective type question as A, B, C and D. The choice which you think is correct, fill that circle in front of that
question number in your gnswer book. Use marker or pen to fill the circles. Cuttlnjlor filling up two or more circles will result no mark.

Qi1 QueLtions Iy A B Cc D
e U S v et wed L
1 T g 7 q
The formula for elegtric potential is:
eehlded b B L
2. X=AB X=4+B X=d X=AB
The equation for NOR gate is:
g _4..‘«’!.(31'-(}145\/:/ i &3 [’:f‘! J s sl
S.1 unit of resistancl is Volt A/Iﬂg@\ Coulomb Ohm
3 - - /— t\ ¢ ~ . *
-yf’.d’b;f‘z&% P30 . @J}ql 7:’:4 $Zy 311
4, ' ~N S
Beta Particles are: < neug@é\ ) electrons protons positrons
5 R NI R B
E-Mail stands for: ((&\&nergency mail| electronic mail |  extra mail external mail
gl AUl
6. | Atomic mass numbgr can be ¢ d by A+N
which relation? @ ‘
-JZ;_/ 5l d){:dbéﬂf 4-)'5’(5( B3 20 5:5(3,/"1
7. | The number of wavgs passing through‘ a pointin Amplitude
one second'is callel:
ey (- sl
8. ! Wm
S.| unit of sound intensity is:
AL
9. 1.33
The value of refractive index of water is:
: -4.1.11.‘.',!».._(!
10. JS J S
One watt is equal to:
. e SIS T 2 = S i
The device which is|used to store charge is: resistor capacitor dielectric fuse
S Si8U1 20 s S AR 1N p osit ]
12. | The radius of curvature of a converging mirror is 10cm -10cm 20cm -20cm
20cm, its focal length will be:

] 113-221-A-48500 8.8 &
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Time  : 1:45 Hours Group: 1 Paper (ID 24 M:V,/ & 15

Marks :

48 48 :

Subjective 8("( &L- gl-z ’

WEera” gty l’l« \Ld

v

o)

.

A

Note: Section | is compulsory

vi.
vii.

viii.

Vi.
Vii.

viil.

Attempt any two questions from section I1.
(Section -1 Jil#)
(5x2=10)

Write short answers to %my five parts. _51/ ez L;lzl&t::.&f
Derive wave equation ¥ = f1 Eavs= SA ety
The amount of energy transferred by a wave depends upon which factors? ?5';40‘ l;’J s W/m'(fd/'idbi.ny 2_LJ§£_J:_U
Define the term “Amplitlde” which is used in simple harmonic motion. _zé.'g/'f 6 “ﬁr.fd.,/‘l "L lui‘-cf.rszwf
B P St HE S 2 U OGS L s

How can we distinguish| between two voices of same loudness and same pitch? Also define that characteristic.

Define characteristic of sound “Intensity”. Also write its unit.
Define Focal Length of $pherical mirror.
Define Critical Angle.

According to sign conventions for lenses, write when focal
length is taken positive and when negative.

Write short answers to any five parts. (5x2=10)

Z Ee iU 8“5 '~hl”wﬁ‘5ﬁ;b

Ey 8BNS, K

S S

b QW e S AL v s 34

&7 oa P Lkl i

What is the unit of potential difference? With which device itis measured? St /e JIJ J’ Qt;(_fm??buf.vﬂd:’- )ﬁdﬁfg

What is meant by ideal Moltmeter?

Define Electric Power and write its unit.

What is meant by logic states?

Draw the symbol diagram of AND gate and write its Boolean expression.

NOT gate is an inverter,
What is meant by MRI?

Define Fusion Reaction
What is difference betwed

Section - I /1™

Sesl e el i
,Zé{/’..‘.i‘lb’dlulé‘—a..gidugd/}gl

\Q > ?q,;l_rLfc..J"? b
@,é cow P ISt B S d b
o v g sifies 2k
f4sl < MRI

S b 4NV SE MG 0]
E Nz B Lk bt
_éf;.uvémmé.yﬁdui@‘&qf
Z .:;;jb’wufaé..y A JJ”;J g
-é} A1l /‘../-{

oGS il

L itind JEE )

L AL Fard
& ewlobnd oy F s
SO Ut ALl il £ Ll

2

s Pin

N &

Each question carries Nine marks.

(a) Define Mechanical WLwes. Give its types with examples.

P UAE el N g 0.5m SO sk 2 Ui g 1004C 51 SO0UC Jir(2.let 4obrln
itely charged with 5004C and 100uC charge. Find the force between two charges if the

(b) Two bodies are oppo

distance between them is 0.5m .
What is transformer? Explain the working of transformer in
connection with mutual induction.

?‘f-’-i’ ke

(a)

(b)

infront of the mirror. |9 the mirror concave or convex?

(a)

Define Natural Radiogctivity. Write three characteristics of
beta rays.

i’ér}"&/ﬂb -
(b)

FL
(4+5=9)"

L i bz et BN oo 45 66cm £ LGS otk b L 3 hem c0p i

Find the focal length gf a mirror that forms an image 5.66¢cm behind the mirror of an object placed at 34.4cm

S s pns s §eS i g 3 p N s S p8 6V 1 it £ 6953020 /i

If three resistors 2Q,8Q and 62 are connected in parallel across a 6V battery, then find equivalent resistance

XAAIL iy 1
,é‘.,ui’wtg’..twtdun-zé.gﬁd;g,ﬁ-’" ()
()

_éau,drv&na” LF Hhirtsatenls p 01 ()

()

Epeler? E Sty E 5 EILIE ()

(&)

of the combination and current passing through each resistance.

113 - 221- A -48500
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Physics
Paper
Time
Marks

H 1§
: 15 Minutes
12

(Jroup I

O

RoliNo.| | |
S$.S.C (Part-1))-A-2021
Objective (f >

(V)

| [ ]

l/”:h‘d/

PaperCode | 7 | 4

7|8

SwL-Qar2/)

I (‘—fb}zbgi)
J7

Il: g4

2 15 oy
Br

Note: -You have four choices fo

B A S Ltz na fumE ez Ll /:4(%((}12.(1!25 &sD #»IC, B,';\ ezl /ktﬁd" s =S
e LU_..JJ‘!uf A Lo J iy 4/( .LULL/ 4f UsAls »Ljs..{f

each objective type question as A, B, C and D. The choice which you think is comect; fill that circle in front of that
question number In your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles wili result no mark.

Q.1 Questigns /=iy A B Cc D
fr=tf]
f 1
- 1 =1 fT:E fr=2 fT=05
If T =— then:
S
e 'K&I—/ 'IUf ~JA z-'é— e 5 »
AP GO L F PS4 Jris .
< Which of the given is a method of energy . .
conduction radiation wave motion all of these
transfer?
et bl 4 0°C
3. i 360ms™ 331ms™ 365ms™ 370ms™
The speed of sound in $ir at 0 Cis:
_n90° J’-wfj ozl J"IJ-"/KG!, Q
O
4. | The critical angle of wateris ___when 45.8° 4 ) 478 48.8°
refracted angle is 90°. A @
N
PERU 64226 14 z:u&,u%&[:ﬁu{: OQ@
n . ¥ e
LB Jis0) Ol 58 £ L @
& An object is 14cm in front of a convex mirror, the ) AR A L
image is 5.8cm behind the mirror. The focal
length of mirror is: 5 & %
i oL yllg Al ) &
" | Charles Coulomb was a (\ ientist. Chinese French American
~7
JrsH L SP LS e LTl AT 10 L
.}
UGS s Y Ui 5§ ok
i 5 Joule of work is needer to shift 10C of charge el ¥ o T
from one place to another, the potential
difference between the places is:
' ,gqqugldwd"'g,f £ Qo e Cul BUIn
" | Electric potential and enjf : i different units| both B and C
bl ST bl ¥ tad
¢d ST bk emf S b g
9. | The direction of induced emf in a circuit is in %
mass momentum energy
accordance with consenjation of:
ozt el LTS LINOR Linsin
10. ’ o A=1,B=0 | A4=0,B=0 A=0,B=1 | A=1,B=1
The output of a two~inpuf NOR gate Is “1” when:
Sl POt A1 P T LS
M. | Becquerel accidently distovered Uranium as U= 1796 U- 1896 U= 1996 U= 1998
radloactive element in:
o ke asb_| LN Aty & A B e wek s Fus e

Release of energy by the|sun is due to:

nuclear fission

nuclear fusion

burning of gasses

chemical reaction

114-221-A-42000
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Physics S.S.C (Part-)-A-2021 S 3
Time : 1:45 Hours Group: II Paper (ID 24 '/”hr:/ Zus: o
Marks : 48 Subjective (¥ SWL-G2-2 1 48: A

Note: Section | is compul

ry. Attempt any two questions from section 1I.

& 7zl rne . e tpne e $iiosi
(Section -1 (Jil.#)

2.  Write short answers tq any five parts. (5x2=10) _ég p iz L.lzlé‘;.éf .2
I. Write two features of simple harmonic motion. _ég fler? »JJ;‘J:’;(J{ d
ii. What is meant by wavelength? Write its unit. _Z LUl 4.%1; i

iii. What is meant by pitch of sound? On which factors does it depend? ?4_40’ lfJ AF KU1l 7 :’.@ d’JbT il

iv. What is meant by decipel scale? ey U.:_Jc Juid v

v. What is meant by vertex? “u’c,'_/ LIy

vi. Define Refraction of Light éq ¥ (Scf( -pJ J(f v Vi
vii. Write conditions of total internal reflection. ‘ééuwl)dcfg' J J /IJ /i
viii. Define Electromagnetic Waves. Ey F8105 85540 i

3. Write short answers tojany five parts. (5x2=10) é{ Vi bz L»lzfék:_éf .3
i. Define Electric Current and write its unit. Z LU sl o Fle S
ii. Write equation for equivalent resistance for series combination of resistors. -&(‘4 7 c:l:l/tjgf?/ bd;t/&{ ):TZKLJ Fis i

iii. What is difference between galvanometer and ammeter? Explain. -é.yu,v(ra U= sl }r]l}:( i

iv. Define Electromagnetit Induction. Eo s SIS I ) v

v. What is step up transfdrmer? Write the basic characteristic ,a‘-fg ¥ wbd@@ylid oy fe-bals //Vl/..l,/ v

of an ideal transformer| , &

vl. Write Boolean express[wn for NOR gate and draw its symbol. i O@ _g'.—la.wﬂwlé :.I;ch.},iéé( % R
vil. Write the difference befween Boolean algebra and ordinary alge@{& &7 GAJ APk LAty il
viii. Write down truth table for AND operation. /8 Z:(/ L J’j 2;/&( u‘) Ap '.viii

4.  Write short answers to any five parts. é4 g L,méhaéf 4
i. Define Electric Field Intensity and write its unit. 450 '../Nmuié._g ¥ du‘/ B
ii. Define Capacitance and write its unit. ﬁ ,é’ ..»gwwz’f..g A éu’f&[ i

iii. Write four uses of capacitors. _£ = IA,LJ /‘../-{ i

iv. What is meant by information? iy Sl Pl e LB v

v. Differentiate between atomic ni 3 g s AUl sl Al v

vi. Write down the list of uses of internet. M-é4/’ ://}GJU‘I’ 'Lt.’d.’.: Ao
vii. Define Unstable Nuclei. Give an example. ' _ﬁsdb'_éqﬂéélff{.g(? 2 il
vili. Describe the use of radioisotopes in medical treatment. -édydlf"’ nu:.».,a/‘;‘ﬁgvu%)/rgp viii

Section —II £9.#
Each question carries Nine marks. ~ (4+5=9)  _ut /i< (Jir;
e Ol r L i er/,m}f S E IS LA () 5
5. (a) Define Simple Harmonic Motion. Prove that the motion of a simple pendulum is also a simple harmonic motion.
_zér}”a/dwi ;;'?JnW;),J!ut_,wéw_wééd,zsé_ﬂso ¢« @, =5uC s g, =10uC 2p&]n (&)
(b) Two point charges ¢, =10uC and g, = 5uC are placed at a distance of 150cm. What will be the Coulomb's
force between them? Also find the direction of the force.
8. (a) Describe the constryction of transformer, V, 1, ,M;J.zgug-éut,_mé A1) (W) 8
for an ideal transformer prove that: ; Vi 4, &b e
W LM -4,4;::44&&!_ re Ll 0 FNiSs ,//,fl,( , G
(b) An objectis placed g§cm in front of a concave mirror that has focal length 10cm.
Dstermine the locatipn of the image.
7. (a) Whatis meant by fiskion reaction? Explain it. ,éuu,émv‘;,,: yits a_c?fujuf () 7

E e ot S et L i )d"“g ¥ 100V A HLU1.a 10MQ S 38 7 32 i

The resistance of a ¢gonductor wire is10 M Q. If a potential difference of 100V is applied across its ends,
then find the value of current passing through it in mA,

()
(b)

114- 221- A - 42000
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Paper : II (Group : I) SWL —[o-a,..zp (,,:fu;;r) I1: 3y
Marks : 12 Objective (5%2*) 12 : A
Time : 15 Minutes Code : 7477 w150 =

Ao L /Aﬁ/':,nb’d&’&.,!iu/uc_u L,’!/[‘/’FC—)GL"G—QH)’.//L;KGU i c.-c— D»oC,BA &2 jllaédj)’/‘ IR
l;)ur‘ﬁbvly 2oi g):v:!’()c_}/,/ ﬂe..)/,!(u:/‘;wtz(—uﬂ <
Note:- You have four choices for each objective type question as A, B. C and D. The choice which you think is correct,
fill that circie in front of that question number. Use marker or pen 1o fill the circles. Cutting or filling two or more
circles will result no mark. :

1. 1. What is the voltage across a 6£ resistor _.;_mé{-,_ﬁl)’u;;—;m;z‘_wi:;/s’ 3A wae Sl 682 1 A
when 3A of current passes through it?
36V (D) 18V (C) 9v (B) 2V (A}
2. To produce electron beam by thermionic emission, -< mdﬁ"f;'&mﬁy" Cgf L,ﬁﬁﬁd/h}‘?iz_l.n'i Sk 2
the potential of tungston filament is:
12v (D) av (C) v (B) 3v (A)
3. If the current in a wire which is - 0:".,@5”&!:L/ZK;JJ;?Z.l.gtlp:wwx}.//‘Lbd_‘,L,f.’/i:ufo{ )J,,r.',w’..b;/ 3

placed perpendicular to a magnetic field increases, the force on the wire:

will remain the same d}u—’U_’,«? (B) will be zero .fr/‘ (A)
will increase &y (D) will dijrease .jiff (C)
4. The brain of any computer system is: @@ ..aél.;is,’/“'}r;‘/fu‘f =

control unit  2yJi (D) cPu g (C) @9 $s2 (B)  monitor Ar (A)

5. The output of a two-input NOR gate is 1 when: @ - SR Ot 1 - LTSl 3 -5
A=1.B=1 (D) A=0, i.) A=0.B=1 (B) = A=1.B=0 (A)

23Ry 7 ™ g e 238 A e ok .
6. One of the isotope of Uraniumis 92 o - W d/f 2 St U e azU wr #TA ¥ (=g -6

The number of Neutrons in this |
330 ¢ 238 (C) 146 (B) 92 (A)

7. The relation between velocity, frequency and wavelength of awave is: - J‘” Ulend ﬁg; 2! J“E/u” U;Jg,..{l =

v="r (D) vi=f (C) fA=v (B) vi=A (A)
8 The speed of sound in wood at 25 C in meter per second is: _%}?dﬁggé}i,ﬁ;ﬁdﬂ; 28°C B
3980 (D) 2000 (C) 1290 (B) 972 (A)
9. The human eye has: | ol tlgggui'f!'{)ud -é
concave lens A& (B) convex lens s (A)
. concave mirror //93"’"/ (D) © convex mirror ,/ b (C)
10. The critical angle of glass is: ,gﬁ:;fw&/ﬁf‘ -10
42 (D) 90" (C) 45 (B) 0 (A)
11. Mathematical equation of Coulomb's Law is’ _‘;_.;,hl,‘(,}t)gﬂjil’“f_h,»’f 1
p:kﬂf_;li (D) 1«*:/‘—‘%{2 (©) F=k‘1—;‘j'—”- (B) F=k-q—"-§]—1— (A)
12. The specific resistance of nicrome metal is. : A dati” 'Jz.ﬁf_;’d/J’:(s):‘/t T2

400x10° Qe (D) 300x10°Qm (C) ,200x107°Qm (B) 100x107°Qm (A)
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Physics

Paper : II  (Group:1I)
Marks : 48

Time : 1:45 Hours

o145 -

-é,{;f.ogbféoﬁlr (2)»&8)2;;;[‘»/..5'45)11‘)";» WLy

Note ; Section I is compulsory. Attempt any Two guestions from Section II.
(Section - I i)

Vit

viii.

iit,

v,

Vi,
vii.

viii.

VL
vii.

viii.

5.(a)

. Write the components of Cathode Ray
ii. What is difference between AD.C
jii. Write truth table of " AND " G
iv. Define Information and Com

Write short answers to any Five Parts :

. What is meant by frequency? Write its unit.
ii. What is diffraction of waves?
iii. If 100 waves pass through a point of a medium ‘ur'fu f/g@:J I s d//uf,u/ZO c,v-w...fﬁ £4riys 100 A _iii

in 20 seconds, what is the frequency of the wave?

iv. What is meant by echo of sound?
. What is meant by reverberation?
i. Why soundless whistle is used to call dogs?

State Snell's Law.
Differentiate between real and virtual image.
Write short answers to any Five Parts :

. Define Potential Difference.
i. What is S.I unit of capacitance? Define it

State Coulomb's Law.
Prove that:

. What is Ammeter? Write its range.

What is meant by Electromagnetism?
Write down the contribution of MRI in medica’ field.
Define Transformer and write its principle.
Write short answers to any Five Parts:

.C?

. What is meant by Data Managing?

Define Nuclear Transmutation.
Write two properties of /7 (beta) rays.
Define Radioactive elements.

@ {(5x2=10)
Igstope.

ication Technology.

(5x2=10) Eer il -2
b..n‘K/l ea)l/k.fc-_.u ,{; 1
S.er/u"_,u’-/ Ju’; i
‘t'..?.:!'/ylca-fld}?l.— -iv
?a)'/JZ.oyé -V
"cdl:(,@b*"vr c._L&..lH:,r Gl l.)... —vi
_ZE LS i
-a‘_.fffi.-u/utéfld’,;ﬁ 2 J-’-) ~viii
(5x2=10) Szl g b 3
-’{ ~—é’/‘-'t54;/2'f'5;/¢}“/::”‘ ik
A ey STEA ST
LSS i
P=I*R @@ _féf.::-“J.L* -V
O© LG kf/‘ -V
¢ %ﬁ/\ St Y a/ﬁ“’/cf Vi
©% AN 5»!6/ MRI _vii
% _E it sl G A i
3 --uuy/[.,méuc_df 4

Ll ,ﬁm, (> o
S A A D.C # DAC
_.e.“u%/a» *AND * _iii
_éwﬂoww‘/‘ﬂ sl S v
('c.)/.r"c_—..‘fab) -V

Y AR YIS
e g Syt
iyt

2 Vi
~Vii

_viii

(section-II ¢ )

(Each question carries Nine marks ( 4+5 =9)

S A3 EJvD

Write down important features of S.H.M.

s, U B 2§50 Srbie bl

_4‘7_,,,,"(10 !’-&)"}vw’ {(a) -5
ey 38 é})&f&é/%&ﬁ_J/&W'/f{aﬁva‘# (b)
iy V@20, W

(b) Nabeela uses a concave mirror when doing her makeup. The mirror has a radius of curvature of 38cm.

6.(a) Write down the characteristics of parallel combination of resistors.
éf}"’bj d/uuuV/m./;Lvul s fd C)c—vu’J/O 1N :f_/n..fbu'uy' Zqfe=

{b)

(b) Carbon-14 has a half life

{i) 'What is the focal fength of the mirror?
(i)

/":d;:’2 T

Two charges repel eachother with a force of 0.1 N when they are 5cm apart

If Nabeela is located 50cm from the mirror. Then where will her image appear?

Find the force between the same charges when they are 2cm apart.
7.(a) What is the difference between AND and NAND
gates? Explain this difference with the help of symbols and truth tables.

) ]
I T 5

. /‘ s Sie el i (a)-t
b 575 w27 1 (b)
..uxZé»;é_'b‘..
-c._ ’i.w;p(u)u’la,ud)}fvuiwlik c_d/ULL 'JM sl x (a) =T

Grardiad 14-g8 e Jo5730 S 14-c28 (b)

ETAM cmmre e lmme it il fake for a muantity carban-14 in 2 samnole droo to one-eiaht of the initial quantity.
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Physics (Ut A1 Edut) - (TID) J7
Paper : II  (Group :II) .SWL"/O'Q»—:.D (i) I 44
Marks : 12 Objective (1552*) 12« A
Time : 15 Minutes Code : 7476 @ 15 =

/.ﬂ:.uf-g,Lhﬂ?l)ﬁw&f&févliuﬁc 97V hé‘...u’_'.bﬁ.dlyf J&dfi -V'fé'{é.‘ DsC,BA ..«l.'i,f/ln‘l:g)lrr HOr
-(ﬂ/:‘bhu‘?n!ﬁu'._«/ﬁj&./dw!{Lé_/,fu’, 'mbc\.fl Bl
Note:- You have four choices for each objective type question as A, 8, C and D. The choice which you think is correct,
fiil that circle in front of that question number. Use marker or pen to fill the circles. Cutling or filling two or more
circles will result no mark.

1. 1. The presence of magnetic field can be detected by: -“;_Cﬁt_vgﬁ:;miﬂfg&?..@f +1
small mass eV A (B) magnetic compass C—J/?w@? (A)
stationary negative charge ;ajgz&%fv (D) stationary positive charge «{/bx 'Lu(l/ (C)
2. An electric current in conductors is due to the flow of: -2 svf.., f_f)’ e /KJJ/ w2
negative ion ",f"ﬁ (B) positive ion Ba3 (A)
free eiectrons 220157 (D) positive charge Ll sail (C)

3. Whatis the power rating of alamp bt/ 2.5 A e U1 Sl b AdiEe Sreumli2v -3
connected to a 12v source, when it carries 2.5 A current?
6ow (D) 30w (C) 145w (B) 48w (A)
4. The Coulomb's force between -‘¢VO}JIQQ’/:£01 W g6l 2m e Bl 2¢ L S Rigeily 4
two point charges each of magnitude 2c separated by a distance of 2m is:
9x10° N (D) 9x107N (C) 4.5%10° 45x10°N (A)
5. In an astronomical telescope, the distance between = -c bl ’uo f&? sl ﬂ;’ghuﬁ‘.’,’c& ff},-//l' -5

objective lens and eye piece is:

A <
equalto f, — /. il fo=fo (B) @%equal to fo+ /e Ll ot R

greater than f, + /. o fot Lo less than f, + /; 'f fot+/. (C)
6. The position of fish inside the water seems t@ ess -« a2l f‘..dl}"/df,f H;»JJQ J‘f .J.’IMILGL -6
L

depth than that of actual depth, beca

' sy (B) tote ilamist reflection AP ?J}U; (A)
refraction of 4 f{k;&ﬁ; (D) reflection of light T gﬁguﬁd’(ﬁ/ (C)

7. What will be the speed of sound having frequency 680, ‘?ng@:&ilﬁ’dbi‘%’ 0.5m s 54 680H, 7

dispersion of ligh

and wave length 0.5 m?

1340 ms™' (D) 680 ms~'  (C) 340 ms™'  (B) 134 ms™  (A)
8. Which one of the followings is correct? - ‘.‘g_ :/;leufﬁdj s -8
.V V A 2
/=7 © f=7 © f=y ® f=VA A
9. Which one of the following radiations has high frequency and e n'n&?%'» s eski ﬁf}f&ﬁld&m -9

short wave length?
Cathode Rays ». 3% (D) Gamma i (C) Beta ( (B) Alpha W (A)
10. Which is the most suitable means of reliable continuous < L2 -u:ﬂ,f‘“" -3 b i 2L 210

communication between an orbitting satellite and earth?

micro waves ot o (B) radio waves Jfadk (A)
any light waves Jg:&ﬂfsf (D) sound waves ikl (C)
11. The process by which electrons are emitted by a hot metal -+rm©ﬂa,cj,}?f¢63f&f,,‘% SO }’L{’ 45
surface is known as:
conduction S (B) thermionic emission ™% fx# (A)
boiling By (D) evaporation ﬁu;-s' {C)
12. AND gate can be formed by using two: _Ld)’u (R Tpdu%!}g{fJW'lug » eyl 12

¥ » ! »F
NAND gates u’ﬁfk# (D) NOR gates JJL {C) ORgates u‘-'fl (B) NOT gates J*=t (A)
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Marks : 48 Subjective (J&) 48 :
Time : 1:45 Hours : é‘: 1:45 :
-é;fa@&é@ iy (2)»:.0;2—. uﬁ(u,.ﬂ.{_d}slds';»

Note : Section I is compulsory. Attempt any Two questions from Section II.

(Section - I Jil.»)

2.  Write short answers to any Five Parts : (6x2=10) -’é;aglﬁ/‘giflzlégc.éf o
i. What is meant by dampped oscillation? ?%)Vk(c;uf”(ﬂ'%/:.i -
ii. Define Refraction of Waves. AT G i
iii. Differentiate between vibration and frequency. _ ?Q_J/"Ubfd‘:’:{/' st oAl il
iv. Calculate the intensity levels - 1.0x10 " ym = d""’zfd}fvd/ul//d/ui;/l _é'pi”d,fﬁil/o/uyygfu;; -y
of the rustling of leaves, if intensity of the rustle leaves is 1.0x 107 wm™. )
v. What is meant by intensity of sound? Write its unit. L@V ek ?e:ygaé'%Jkiv N
vi. Write two unpleasant effect of noise on human heallﬁ. _é{,;olﬁléﬁ: £ QUL _vi
vii. Write down four uses of lens. _al e e s Z A _vii
viii. Define the terms Magnifying Power and Resolving Power. &b pta'f/:d::g.fs’:z.; st sk ..Gbu'? ~viii
3. Write short answers to any Five Parts :  (5x2=10 ) -2’_’.‘;:;;!:3/35&"2'@56)’ 3
i. What is the unit of capacitance? Define it. | gg;é’fd/d ! f-'c‘_tf/&:jfu’?ﬁ{ >
i. What is meant by electric field and electric intensity? <€/~i/lg’c. & "’Lf}?’ 2 ,U-;‘J}gf -ii
iii. State Joule's Law. | © _ZWLodselz i
iv. What is the difference between D.C and A C? o {& © '&'4‘:..;3)(_{((,'3 Gt ol §35 -iv
v. What is Galvanometer? How it is connected in a circuit? % ?‘Lt'@l)r?dfufba{:/):ﬂ S Js v
vi. Can a transformer operate on direct current? ‘.'g.L'J:/( K{&f;,l:}l}//uﬂ}‘gf Vi
vii. State Faraday's Law of electromagnetic indur@@ -ﬂéuguiGKfﬁl.@-&:/"?P(G}!/i’ -vii
viii. What is the role of spiit rings in D.C moter®\ < te MSYEH LA 2SS i
4.  Write short answers to any Five (5x2=10) ..’z:f::c.glz/‘?f.»!:i:ié&a,éf -4
. i. Define thermionic emission. PSS
ii. Write down the difference befWeen analogue and digital quantities. -ﬁ&)b’uufﬂ‘_}é-{‘s 9 .futal i
iii. Write truth table of OR gate. L ERASLDT i
iv. What is meant by Hardware? Give an example. JEJe ‘.“4.;?{4;,’»:;5;1, -iv
v. What is meant by Information Technology? v;.)yg@‘;,ﬂu?ﬁm -V
vi. Define Nucleons., -E‘j’_f 54!/‘7&/:.& Vi
vii. What is meant by ionization effect? : Sl e IEIET i
viii. Write down uses of radio-isotopes in medical field. _al L A Tgé/uﬁ'}l}uﬂ,‘y _viii

( Section-I1 _¢» ) ,
(Each question carries Nine marks ( 4+5 =9) (! A3 Eve)
5.(a) Write down the characteristics of Simple Harmonic Motion. ~’Cf§./f’~=~gar‘56¢fru€?/g;)§r (a) -5
e Gt e el F e & fe 2 e 5D Aw}‘!‘,rf;i{s (b)

(b) The power of convex lens is 5D. At what distance the object should be placed from the lens, so that its real

and 2 times larger image is formed?
6.(a) Describe the factors affecting re.sistance, in detial. -éilugr_‘}..‘;' :flfé._i;.’..n)uf}l,;b ¥ ()-8
- L 1.6x10717C 35 desleys? gs henl 100uC @ng:s;yg{yﬁﬂ’ (b)
(b) The charge of how many negatively charged particles wouid be equal to 100 #C . Assume charge on one
negative particle is 1.6x1077C .
7.(a) Explain the working of different parts of oscilloscope. ,zﬁyustKﬁuﬂ’ﬂiv}(‘bi (a) -7
g ( T»z) WS et é Ca M A2 e U5 A (b)

(b} The activity of a samole of radioactive bismuth decreases to gne-eight of its original activity in a15 days.



Roll No. St Annual 2019

Physics ( (U « IT LA LE)- (IT) JP
Paper:II  (Group:I ) ( Academic Session 2017 - 2019 ) (s lig) I : 4y
Marks : 12 Objective __((§%) 12 : 4
Time : 15 Minutes Code : 7473 s 15 =5,

/:.@ﬂ_./zl‘fo}u.w&llv&.,ﬂﬁyuc_Ju:ﬁbéé:&b&d'fﬁ{‘éﬂélﬁ -uji:c,'__) D.siC,B,A é&'ﬂ;ﬁ;b&d‘rﬂ ey
| Kror il ot R st S L S T st i 255,
Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will
resull in zero mark in that question.
: 5 z . 238 - v W 238 s .
1. 1. One of the isotope of Uranium is 5 U e P S St T Ut ce U 9 AT iy =g 11

The number of Neutrons in this isotope is

330 (D) 238 (©) 146 (B) 92 (A)

2. One byte is equal to - bat glg AL LT L2
10 bits (D) 8 bits (C) 6 bits (B) 4 bits (A)

3. AND gate can be formed by using two ‘.‘4;.8&, r e e 23T Fo S AND 7 /U J:"f ned 3
NOR gates (D) NOT gates (C) NAND gates (B) AND gates (A)

4. The particles emitted from a hot metal surface are - )?; Lo C’ J .J': (f i}
protons Wiy (D) electrons ulf‘.al (C) negative ions )'-’T‘f' positive ions ;;-'T_-,._,: (A)

5. The presence of magnetic field can be detected by a & -g__CC b LOC b’d:.a/ J W ,@P <5
| small mass =l i % (B) O% i@\etic compass </ e (A)

ionary positive charge < b =t d,l/ (C)
TR VAR SOC S Sos O Pu Y

stance constant, the power is

mains unchanged tw 2 }s  (B) quadruples & A (A)
“e- 2 SU¥ ny S 7

stationary negative charge <« /b d’J [
6. If we double both voltage ~fbx sy 7 S .

and current in a circuit while keeping i

half 7 (D) double ¢
7. The S.I unit of electric power §
Kwh »7 wif (D) ewton ¢ (C) Watt < (B) Joule J2 (A)
8. Two small charged ?d:«w}gfuw::&ic—-.—ﬂ"‘-_f-,-“:" S L) it - YW 4 do £ 2mm S 52 dese 32 .8
spheres are separated by 2 mm. Which of the following would produce the greater attractive force.
F2gand =2q (D) +2qgand + 2q ©) —-lgand-4q (g +lgand +4q (a
9. Which one of the following quantity is not changed (s 2Lt 4 K_.J’.;_L,CJ_’,;(,N s £ FER, S5os -9

during refraction of light?

its speed e Fi (B) its direction o fi (A)
its frequency (f:‘:/ gf' (D) its wavelength 3‘? o ‘fl (C)

10. Index of refraction of water is -5,‘/5:: ,‘{/g, rdk -10
1.52 (D) 1.33 (C) 1.00 (8) 1.31 (A)

11. How does sound travel from its source to your ear ?‘I-__é’f:gf_éuj( L ,,rT;_ KLI, oty X3 11
by vibration in wirese-c A A S} Lo (B) by change in air pressure ;J:A’ Sl (A)
infra red waves e fsks 9;! (D) by electromagnetic waves . e .@g‘;f‘?i (C)

12. *The relation between v, fand 4 ofa wave is -q_JﬁuL/» L 3%y ) d 5L 12
"*} (D) vi=f © vefa (8) =4

113 -219- 35000 Ww
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Physics ((‘bd)fc II o-‘-d&b‘/i'?) Jr/

Paper:II (Group:I) ( Academic Session 2017 - 2019 ) (.,,,/u,;) QII: 3¢)
Marks : 48 Subjective (J&1) a8 :
Time : 1 : 45 Hours 21 45 =5

-g;i@&lzéwﬂlr (2)»:.—6:(;4)1(».".4_(!)&):':» 2 s

Note : Section | is compulsory. Attempt any Two questions from Section Il

(Section -1 ;,!jlﬁ)‘

2. Write short answers to any Five Parts : (5x2=10) -2‘,&:@&&/‘*&»'2'& =df -2
i. Define diffraction of waves and write an example. &8I L 2w S5 Sy -
i. if fwmd4llz and A=0.4m ,find the value of V. -?_;fr}” el S VIinA=04m . [ =4Hz A i
il. Define mechanical waves and electromagnetic waves. S s P sy V‘f-’é il
iv. What is the pitch and quality of sound? ‘ ?q_.;y\;f;. u'Jff Il ?L' J T _iv
v. What is the reflection of sound? ‘-‘q_)l/t_f"c_. A58 Eiv oy
vi. Define electromagnetic induction. _£.4/J J ‘ffi'l .‘@Q s/'.ai -vi
vii, ‘Define mutual induction. : S S S il
viii. What is relay ? Write its use. e K S sty Ve &u i
3.  Write short answers to any Five Parts : (5x2=10) -Z'::.:UZ/"Z"Z' }c_df -3
i. Write any two uses of lens. e e $IL A
ii. What is the gifference between incident ray and reflected ray? S U/ Uk s 2% ol e w i i
iii. What is meant by Real focus? ?ﬁ-__;'/gc.- Jr} J‘f/ «ili
iv. BSs and MSc stand for what? _,.ii"Z e J/ MSc . BSs -iv
v. What are browsers? Give their two examples. <3/ By uﬁfc- 7] Ju)l Ut t_f Jiiss oV

vi. Define C.P.U. Why it is called the brain of computer? Y t@ u)?.’f/t: K/'.c./ fd' - 5—4}7 JCPU -vi
vii. Describe medical treatment of radio isotopes. @O ok ot Rie ¥ RFT gh il
vili. Write a note on cosmic radiations. < %v Py A St LK _viii
4. Write short answers to any Five Parts: ( @; 10) -2’.’::.-4:;2/‘5&,!2!6;;.‘3{ -4
i. Define Farad. s S e i
ii. What is meant by volt? @ feily Ve & i
iii. State Coulomb's Law. @ Yk UK A i
iv. Define ampere. O LSS B v
v. What is meant by conventional curr Sespfe oS S v
vi. State Ohm's Law. Yk WK A i
vii. Define thermionic emission, -2’;..;!/7 $ oA .6:‘/7 ~Vii

vii. What is meant by analogu digital converter (ADC)? ?q.;l/x_,fa.(ADC) yg ) .fuw - Viii

(Section -1, - ¢5 )

Each question carries Nine marks ( 5+4 =9) st A2 3 ZJirs)
5.(a) If in Anarkali Bazar Lahore, intensity level oft Sy UG¥i J2iL 1 7 » 80 dB J¥ Fese L d oS (@).s

sound is 80 dB, what will be the intensity of sound there?
(b) State the conditions for total internal reflection. -zi.'gg‘ ) J J‘?/‘ JE J.;' (b)
St om LE L (26 £ 01 m Zhper e 08NS S Caien £ 2 523y Skl v (a)-6
6.(a) The force of repulsion between two identical positive charges is 0.8 N. When the charges are 0.1 m apart,
find the value of each charge.
(b) Determine the equivalent resistance of series e S S L oz =& L 72 (b)
combination of resistors.
7.(a) Ashes from a campfire deep -Efu.t’-’ ¢ £ S5 -q_% Sl ZSA it G2 814 ¥ A Flisy S Akl (a) -7
in a cave shows carbon -14 activity of only ohe-eigmh the activity of fresh wood. How long ago was that
campfire made?
(b) What is cathode ray oscilloscope? Sk Lt Lyl e Y; s 357 (b)

Describe its components.
113 - 219 - 35000
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Physics ( (UK « IT S 8 2E)- (T ) Vg
Paper:II (Group:II) ( Academic Session 2017 - 2019 ) (-r:/l/.u) IT : 34

Marks : 12 Objective (15 | 12 : 2

Time :

15 Minutes Code : 7472 <ir 15 0 =

/‘-:—U.:"’E/:‘ﬂ;'di"’&i&*&.,-lﬂwz:c_u:u:;l:a"f,{_.:&Végirﬁ{géb/d'i. ..u_',?zé-; DsiC,B.A ;L’.’?"FJ!’PLQJ,,’A Sl

Nole:-

10.

11.

12

-fn/y“w..,dﬁuj:igﬂ:./ﬂde/U_‘—ﬂi_fé/u:ﬂJu&)c,-g iy
You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
fill that circie in-front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more
circles will result in zero mark in that question.

- Equation to find the time period of mass attached to a ~c.=hl-Ji /s ft §\n £ 0 il Ly -1

spring is _

T'=2rx \[% (D) T= 21\/% (©) T= Zyr\/i‘;’_— ® T= Zﬂ\g (A)

. Intensity of sound of rustling of leaves is -{.-t‘f% S tly o Sus -2
107%wm™ () 10°%wm™ () 107" wm™ (g 107%wm™?  (a)

The instrument used to examine stomach is e JT a1 &S 2o |3
cystoscope Y:" #— (D) bronchoscope .,44:54: (C) gastroscope ,r;ﬁ: }—.-/ (B) periscope .r:‘d,& (A)

Unit for power of lens is @ —am YK S A .4
centimeter A u“ (D) meter < (C) - watt @@) dioptre _z» J'i (A)

- According to Coulomb's Law, the value of k is O 2l S kI L wIv L U =5
Ox10°Nm’c™ (D)  9Ix10°N"'mi*c? (¢ 9 2 (B) 9x10° Nm™c* (a)

Two resistors of 6kC2and 44kQ are  _Soe 5 wq_gf B2 e f i £ 4kQ L 6kQ2 6

connected in series . Their eqdivalent resisiz
24k (®)) 12k

©) 10kQ2 (B) 2kQ2 (A)

Unit of time period is AT Td

Cs' 234 ©

If the current in a wire -Ju"

M 3Jz (© hertz 7: (B) second .AE (A)
SN ¢ s Feelen Ll S Sln dra ittt Sn DIt 2 26 G N 8
which is placed herpendicular to a magnetic field increases, the force on the wire will
be zero Jn)‘ (D) increase J&‘/. (C) decrease d’nf (B) remain the same d’m.ﬁ’J_i (A)
i X «4-./3 then X is 1 when i w1 X 73X =AB Ji_9
A=1, B=1 (D) A=0,B=1 (C) A=1 ,B=0 (B) A=0,B=0 (A
In the thermionic emission, the particles emitted -z }2/& Labeike B8 P (/ s L4 e/ 10

from a hot metal surface are

photons #J7 (D)  neutrons i (C) protons  y4; (B) electrons 81 (A)
From which of the following you LS S ST, - e ‘,/c.uﬁd_'; Gn 11
can get information almost about every thing?
internet o £ (D) computer S»d  (C) teacher .1 (B) book U (A)
Release of energy by the Sun is due to ‘ - B GO d_-;i&g){/(?wr -12
nuclear fusion Wit (B) nuclear fission o A (A)
chemical reaction uiqr U J:'{ (D) burning of gases Wb’urf (C)

114 - 219 - 25000 w
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Physics (ol IT LAASLE) S
Paper : II (Group:II) ( Academic Session 2017 - 2019 ) (,,,/:/,,) (Ix: 3¢)
Narks : 48 Subjective (J&N) a8 : A
Time : 1 : 45 Hours : 1 .45

-K{_‘-’(]’aklﬁ‘{::«ﬂ‘r (2)»:—5f:.¢(»~"—4.d)ﬂdﬂ2» 3 bt

Note : Section | is compulsory. Attempt any Two questions from Section Il

(Section -1 LJj‘ﬁ' )

2.  Write short answers to any Five Parts : (5x2=10) _z’;—,._-,u_z/i’l,lm&gc,df -2
i What is meant by simple harmonic motion? ‘-'q—--”/kfc—&j’” £ S
i. How damping progressively reduces the amplitude of oscillation? S« J//<l &z & 32 S5 Lol bts i
iii, Derive a relation between velocity, -éﬁi‘ -’-—':P‘J‘j; s & Eé«’i’ 2! U"gf' e S g i

frequency and wavelength of a wave.
iv. Write two uses of ultrasound in medical field.

@ et g LA P b iy

v. Calculate theintensity level of the faintest 210" wm™ o"}lf’g’_lﬁ Jx u"‘"’? €230 o7 a2t SO v
audible sound of intensity 107" wm ™
vi. What is meant by an ideal transformer? !"‘;_;I/(_fg._ L JET i
vii. Lenz's Law is a manifestation of the law of tud e Jbr L YIs CHu? L3 b ¥ 2 i
conservation of energy. Why?

viii. State Faraday's Law of electromagnetic induction. -gguguiﬁ' Kgff‘ﬂ _,@G:,,‘?a ¥ 4_5'/_' ~viii
3. Write short answers to any Five Parts : (5x2=10) -zf:;oyzﬁ"é.rzlét.:.é/ -3
i. Define compound microscope. Write formula to find &y (2_/’(:‘" ARE St St -r’;’ FLasgd

its magnification. ? )
ii. State Snell's Law and write its formula. @ UrsG ol 2_"..:4/‘7 Swii .:CJ-’: -ii
WS Sestp Ve BF o/ i

iii. Define nearsightedness and how this defect can be dorrected? =
iv. Define compact disc . How much data can be stored in it? 0@& Fe

v. What is difference between cell phone and photo phone?

O b Lot &3 AU S ULLS .,.5/ -iv
S0/ UL 02 49l 0d J v

vi. What is meant by information and communication tec ’ e sl Ve GALe o252 ol O Ry
vii. Write two properties of Alpha Particles. @ ZEy e § )94,1, W _vii
viil. What is meant by Gamma decay? Write its g quation. ..af;_/f— -2 1 feily l_fc, L} W - viii
4.  Write short answers to any Five Parts: O (5x2=10) -Z -;_-,uz/"’&!z'éga-df -4

E A

YL UIT K A i

i. Define electrostatic induction.
ii. State Coulomb's Law.

iil. Write at least four uses of cap r$ -af';_{/‘- ™ ,/:'l ,f[_i)r:-f —ii
iv. Differentiate between Ohmic non-Ohmic conductors. _ZE ok O wipn LiPI0 Lo ot ot Lash v
v. Whatis fuse? How it is connected in circuit? ‘.‘q_t'tggﬁd_/ut.'// = S Y iR v
vi. Write the use of circuit breaker. -2.’:{/‘- Ju1 ¥ )y, _‘);:' -vi
vii, Define thermionic emission. -&5_4/1,( S Lz f i
viii. Draw the truth table for NAND operation. e b B &R e i

(Section - 11, - 3 )

(Each question carries Nine (5 + 4 = 9 ) marks gzd’ (5+4=9) J Ll‘jlraz
-¢ 40 mm J@z: 2! BHz J"";{/Jgfq..t'/ lag ¥ fribh = a./-{l ﬁu"q.. 80 cm du‘,: JJ . L,Z/ .Q (a)-5
6.(a) At one end of the ripple tank 80 cm across a 5 Hz vibrator produces ¥ 8 =3 & g ?_‘:_f.:__z/c..@ S
waves whose wavelength is 40 mm. Find the time the wave need to cross the tank.

(b) Define refraction of light and write its laws . -gu‘."l;" L1l 2:.4/7 J _v'u .Jﬂf'g)/ (b)
6F Gdiz S el 2 e 6B S 12Va @ Sy S e 6uF s 12uF 2P UE  ped 1 (a)-6

ek S P it ¢ KF g R e UF
. 6.3) Two capacitors of capacitance 6uF and 12uF are
connected in series with 12 V battery. Find the equivalent capacitance of the combination. Find the charge
and the potential difference across each capacitor.
(b) Explain the factors which affect P S Ly E eI L Lsitit 21 UG (b)
on resistance. Also define specific resistance.
Szt 3t o & L3 M S 602Nt i26 ceJb 5.25 U S 60 IS Al L (a)7
?7.(a) Cobalt-60 is a radioactive element with half life of 5.25 years. What fraction of the ariginal sample will be left
after 26 years?
(b) Explain AND operation and write the truth table 2 JE pr ¢ o AND i ZE 2ol ST AND (b)
of AND gate.
114 - 219 -25000
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Physics ( UK « IT LpsE)- (1) J7

Paper:II  (Group:I ) ( Academic Session 2015 - 2018 ) (¢fby) Iy

Marks : 12 Objective gu:',gz 12 /

Time : 15 Minutes L.’GI ’/D’ /9 Code : 7473 1502
/c__g_‘?g/':'u"ub S el R e ne S s Si &é—‘c—t’&d"/’/%ﬁ 1 "4’:4’.) D.C,BA .-.;Uijmédlrc A

-(_nr"kb 173 ’A‘/-vJﬂJ‘—/4fu{L(_/4’u)/’13)LJG—J i

Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will
result in zero mark in that question.

1. 1. When Uranium ( 92 protons) ejects a ‘.'Ja.lguu;' ISy Liie e/ b J:’}g G (g 92) e -1 A

beta particle, how many protons will be in the remaining nucleus?

91 )y <« 93 (C) 90 (B) 89 (A)
2. The brain of any computer system is -:__f,!.: ¥ f’ /'r{ fo’( <2
control unit &y +# (D) CPU & (C) memory (ot (‘B) monitor  ~» (A)
3. In computer terminology, information means ey wU’J :’b-/n-j -3
raw data & 76 (B) any data L3 %ds
large data G5 asls (D) processed data L3 A=y (Q.
4. The process by which electrons are emitted by a hot < EUn b 50 IR JKIS -4
metai surface is known as @
evaporation sl (8) boilin@Q Sy (A)
thermionic emission LS ?ctlon S (C)
5. If the current in a wire ws’..@f‘dbg,/f/ M9elollex J/é'—‘!d(,gﬂ/’)d) f f»{fA’.Erc'/i
which is placed perpendicular to a magnetic field ased, the interacting magnetic force on a wire
will decrease will increase cf&‘/. (A)-
will be zero (D) will remain same Jnuﬁi.f,,-‘
6. S| unit of electric current is ey 816/ 6
Volt (V)& (D) tt (W) <is (C) ampere (A) 4% (B) ~ Newton (N) ¢ (A)
7. An electric current in conductor is due to the flow of e g S i ,/g [y Y 7
negative ions STk ®) positive ions T iy (A)
free electrons 53290 5157 (D) positive charges 7y iy (©)
8. A positive electric charge (-,A;..ff'?';%}.;'.{l -8
attracts other positive charge :rr/Uy S Ll difepn (A)
repels other positive charge ‘gr/ (‘;’: I Ll didepm (B)
repels a neutral charge 4.r/\,”\, B \D, attracts neutral charge gt/uf f:‘;’bzlgdi;é (C)
9. Types of reflection are -ug('ﬁld/g-,’gf -9
5 (D) 4 ©) 3 (B) 2 (Ar

10. A converging mirror with $§xy/ e K()' <& rt;.éu)f/..{q.luuéw cMme /220 cmyci. € up B /P’.{l -10

a radius of 20cm creates a real image at 30 cm from the mirror. What is the object's distance?

+20cm (D) +15cm (C) +7.5cm (B) +5.0cm (A)

11. Which form of energy is sound? ‘.‘r__(;"f;(fd}l b 1
chemical £ (D)  thermal J# (C)  mechanical @) elecrrical S5 )

12. Waves transfer -u_n}/();i s 212

velocity J’ Us (D) wavelength 3’%‘: (C) frequency -/’ (B) energy Ss (A
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Physics ((bmf: II uww/ﬁ:?) «f(/
)

Paper : IT (Group'I) ( Academic Session 3015 2018 ) (/i) (n: 24
Marks : 48 e Subjective (31)
Time : 1 : 45 Hours LG - o L'y 4'1 45 .8

-cf{fuw’ﬁumr (2)::4-.61(:.‘):(».«9.4_(!/&):!.0 JOF
Note : Section | is compulsory. Attempt any Two questions from Section II.
(Section -1 Ji.50)
Write short answers to any Five Parts : (5x2=10) _Z::oglif?é'lﬂétc.éf -2
I. What is meant by wave motion? ) <4_;1/Lfc,Jr' 2l
i. A wave moving on a slinky with frequency of 4HZ -« 04 m &% b s4Hz 55§ 9 er/.,f ¢ & i
and wave length 0.4 m. What is the speed of the wave? "ur (f Ahv(n
li. What is meant by intensity of sound? Write its unit. -—-ﬁ' £ J‘/JGJ/' 0 A -
Iv. What is the audible frequency range for human “JJMJ,V:.LUL/ ;w.lf 0 (VI ( x V.Jh,b&_.){uu - W
ear? Does this range vary with respect to age of people?
1y wu’”uc_drl/u Lo LUt et R .jb(:..'_: 15 1‘5Vd/b/i'/yﬂ f»O/JﬂJVT -V
-e 332ms™ &z uv.,é B/
v- Flash of light is seen 1.5 second earlier than the thunder. How far away is the cloud in which the flash has
occured. Speed of sound is 3325~

N

vi. Define electric current and write its unit. & 2K sl é .JLJ/U.‘;/ S Ner
vii' Prove that IKWh = 3.6 MJ SEek il
vii. Differentiate between A.C and D.C. ‘<J/V ups £ DCHAC v
3. Write short answers to any Five Parts : (5x2=10) -éﬁuk'if‘zr'ﬂéic—éf -3
| Draw the ray diagram of simple microscope. ’L ) 15} <_/g..,:*’ ;/. 0y -
« What is meant by near sightedness? g i i
iii. Define near point of eye. %Q _J/Q./_',) i O FT
iv. How a body is charged negatively? 0%% ) 2t pufd wa :/ L i
v. Define variable capacitor. -c":-ﬂ/vi""' u""sfﬂ e al

vi. Differentiate between data and information. i% S"LU/k(u-f.N" sl i

» e K <
vii. Write two uses of optical fiber. & a0 L bg}" ~ViiN—
viii. What is meant by word processing? o Sesl Ve Ky i Vilew

4. Write short answers to any Five Pa (5x2=10) -ﬁ’)-«l-b’/‘"ZoV'&Lc—df -4
1. Define mutual induction. -fé-a_/‘\g;fi’ I T
ii. Describe relay briefly. Ay !/ L di
ii. What is meant by AND opé n? Draw the diagram of AND gate. _c_v(tfu;g,(./"yl e -'/v-c_ /l b i -
. Differentiate between analogue and digital quantities. -c‘fv'bu/u‘ S IS Ll .J/U VA1
v. Write the name of main services available on internet & el el nFo ...uf.uf/-' —v—"
vi. What is meant by Isotopes? Write the name of Isotopes of é(»._,-u‘r :;_Ju,v[. {.L')'/‘_-_’C-u'r!' T W
Hydrogen.
vii. Describe any two hazards of radiations. -a‘fulf-:«')’ 2 c—Jh—/ TP ¥4
viii. What is meant by artificial radioactivity. fe e & # dhi i) v
(Section - Il , - ¢» )
(Each question carries Nine (4 + 5 =9 ) marks (/7 (4+ 5 = 9) 4 Livp) )
5.(a) Define simple Harmonic “aJr.ffM)f: Ird enl kBl kSt E B, (a)-5y
Motion. Show that motion of mass attached to a spnng is simple harmonic motion.
(b) An object is placed iﬁ" ~; i (C' - tnly /.»vo.. 6cm &Ll « 10 cmn?“J.,){:’ dgfz/ zc ()-f' (b)
at & cm infront of a concave mirror that has focal length 10 cm. Determme the location of the 'mage"
6.(a) Determine the equivalent resistance of series connected in - S o S J’vw/u Lo u’._-d- 2 (a)-6
series.
Lkl g2t e dob i S 1006C fi o 10'Y 238 ctydic =S85 (b)
(b)  The potential at a point in an electric fieldis 10*) . If acharge of 100uC 7 YISl G §
is brought from infinity to this point , what would be the amount of work done on it? )
7.(a) Explain four components of computer based _g{_-,.»uw/j'"};j{?,é (CBIS)A™ JZstiehd  (a)-7
information system (CBIS). . |
CEr K J&f’é_w' == dedid 14- gk -&-Jb- 5730 UiV _.»LJ 14- 8 (b)
(b) Carbon -14 has a half life of 5730 years. How long will it take for the quantity of carbon -14 in a sample to

drop to one- eighth of the initial quantity.
113 - 218 - 33000



